normalized X?

14938
1.073
0.8456

Entries
.| mean
Std Dev

[ normalized x? probability |

0.05

0.04

0.02
0.0
o I .‘
= 1| Il
< |’ I
o Hili
e
09¥0—2"4 6 8 10 12 14 16 18 20 09%70.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X Prob(x?)
mmme= DQM_mkFit_TToriginal
s DQM_mKFit_TT_pL
m—— DQM_mKFit_TT_pLW
5 p—
2 F S
=] r =
< o A
-~ -
‘\$< o
v e
o
L Lol
\"
2 y
§ 1. 1
] i
0.9 -
R p— 3
TP n (PCA to beamline)
AN 3[ T A
5 f : 5
s F : - =
QL 2.5 Q
=< F : =
Vv r : v
S SO E RUN T
: Il i J
g+ ' ' )
T : b T
x LT :| | @
0.95 . . . 5
107 1 10 102 Jo
T
S
S
A
-
g
Q._ 0
el
\"




	Contents
	Page 1


